Dagmar Markechová The entropy on *F*-quantum spaces

Mathematica Slovaca, Vol. 40 (1990), No. 2, 177--190

Persistent URL: http://dml.cz/dmlcz/129642

# Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1990

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

# THE ENTROPY ON F-QUANTUM SPACES

## DAGMAR MARKECHOVÁ

# Introduction

A usual mathematical model for the quantum statistical mechanics is the quantum logic theory, i.e. the theory of orthomodular lattices [1]. A state *m* on an orthomodular  $\sigma$ -complete lattice  $L(\lor, \land, \bot, 0, 1)$  is a maping  $m: L \to \langle 0, 1 \rangle$  satisfying the following two conditions:

1. m(1) = 1

2. If 
$$a_i \leq a_j^{\perp}$$
  $(i \neq j)$ , then  $m\left(\bigvee_{i=1}^{\infty} a_i\right) = \sum_{i=1}^{\infty} m(a_i)$ .

Riečan and Dvurečenskij pointed out in [2] and [3] that the Piasecki *P*-measure has the same algebraic structure. The Piasecki *P*-measure  $m: M \to \langle 0, 1 \rangle$  (cf. [4]) is defined on an appropriate set of real functions  $M \subset \langle 0, 1 \rangle^x$  and satisfies the following conditions: 1.  $m(f \vee f^{\perp}) = 1$  for every  $f \in M$ .

2. If 
$$f_i \le f_j^{\perp}$$
  $(i \ne j)$ , then  $m\left(\bigvee_{i=1}^{\infty} f_i\right) = \sum_{i=1}^{\infty} m(f)$ .

Of course, here  $f^{\perp} = 1 - f$  and  $\bigvee_n f_n = \sup_n f_n$ .

Riečan and Dvurečenskij introduced a new mathematical model of the statistical quantum theory based on the Piasecki measure, the so-called F-quantum space ([2], [3]). The aim of the present paper is to give a characterization of an informational ability of an F-state and of an F-dynamical system (X, M, m, T). The main properties of such a quantity are stated. The connection with the classical cases is also mentioned.

## 1. Some definitions and notations

**Definition 1.1.** By an F-quantum space we mean a couple (X, M), where X is a non-empty set and M is a subset of  $\langle 0, 1 \rangle^X$  satisfying the following conditions:

If 
$$1(x) = 1$$
 for any  $x \in X$ , then  $1 \in M$ . (1.1)

If 
$$f \in M$$
, then  $f' = 1 - f \in M$ . (1.2)

If 
$$f_n \in M$$
  $(n = 1, 2, ...)$ , then  $\bigvee_{n=1}^{\infty} f_n \in M$ . (1.3)

If 
$$1/2(x) = 1/2$$
 for any  $x \in X$ , then  $1/2 \notin M$ . (1.4)

If we define  $\bigwedge_{n} f_{n}$ : = inf  $f_{n}$ , then the meet  $\land$  and the join  $\lor$  are related to each other by simple relations:

$$1 - \bigwedge_{n} f_{n} = \bigvee_{n} (1 - f_{n}), \{f_{n}\} \subset M$$
$$1 - \bigvee_{n} f_{n} = \bigwedge_{n} (1 - f_{n}), \{f_{n}\} \subset M$$
$$f = (f \land g) \lor (f \land h), f, g, h \in M.$$

We say that f, for the control orthogonal (we write  $f \perp g$ ) if  $f \leq g'$ .

**Definition 1.2.**  $b \to a \to a$  an *F*-quantum space (X, M) we mean a mapping  $m: M \to \langle 0, 1 \rangle$  satisfies the following conditions:

$$\operatorname{cer}(\mathcal{L} \vee (1-f)) = 1 \text{ for every } f \in M.$$

$$(1.5)$$

If 
$$f_n \in M$$
  $(n = 1, 2, ...), f_i \perp f_j$   $(i \neq j)$ , then  $m\left(\bigvee_{i=1}^{\infty} f_i\right) = \sum_{i=1}^{\infty} m(f_i).$  (1.6)

**Lemma 1.1.** An F-state m on an F-quantum space (X, M) has the following properties:

$$m(f) + m(f') = 1 \text{ for every } f \in M.$$
(1.7)

If 
$$f, g \in M, f \leq g$$
, then  $m(g) = m(f) + m(g \wedge f')$ . (1.8)

If 
$$f, g \in M, f \leq g$$
, then  $m(f) \leq m(g)$ . (1.9)

Proof. Since  $f \perp f'$  for every  $f \in M$  by (1.6) we obtain 1 = m(f) + m(f'). Let  $f, g \in M, f \leq g$ . Then  $f \perp g'$  and  $m(f \vee g') = m(f) + m(g')$  by (1.6). Therefore  $m(f' \wedge g) = m((f \vee g')') = 1 - m(f) - m(g') = m(g) - m(f)$ . The property (1.8) implies the property (1.9).

Example 1.1. Let  $(X, \mathcal{S}, P)$  be a probability space. Put  $M = \{\chi_A, A \in \mathcal{S}\}$ , where  $\chi_A$  is the characteristic function of the set  $A \in \mathcal{S}$  and  $m(\chi_A) = P(A)$ . Then (X, M) is an F-quantum space and m is an F-state on (X, M).

Example 1. 2. Let M be the set of all functions  $f: X \to \langle 0, 1 \rangle$  and m be the Piasecki P-measure. Then (X, M) is an F-quantum space and m is an F-state.

#### 2. Definition of the entropy of an *F*-state

Let (X, M) be an *F*-quantum space and *m* an *F*-state on (X, M). A finite set  $\mathscr{A} = \{f_1, ..., f_n\}, f_i \in M$ , is called an orthogonal resolution of the unit if for each  $f_i, f_j \in \mathscr{A}, i \neq j$ , there holds  $f_i \perp f_j$  and  $\bigvee_{i=1}^n f_i = 1$ . Let us consider the set of all orthogonal resolutions of the unit and denote it by  $\Phi$ . Each  $\mathscr{A} \in \Phi$  in the sense of the classical probability theory represents the random experiment with a finite number of outcomes with the probability distribution  $p_i = m(f_i), f_i \in \mathscr{A}, p_i \ge 0$ ,  $\sum_{i=1}^n p_i = \sum_{i=1}^n m(f_i) = m\left(\bigvee_{i=1}^n f_i\right) = m(1) = 1$ .

**Definition 2.1.** Let  $\mathcal{A}$  be an orthogonal resolution of the unit,  $\mathcal{A} = \{f_1, ..., f_n\}$ . We define the entropy  $H_m(\mathcal{A})$  of a resolution  $\mathcal{A}$  in the F-state m by the Shannon formula:

$$H_m(\mathscr{A}) = -\sum_{i=1}^n F(m(f_i)), \text{ where } F: \langle 0, \infty \rangle \to R, F(x) = \begin{cases} x \log x & \text{if } x > 0 \\ 0 & \text{if } x = 0. \end{cases}$$

$$(2.1)$$

We define the entropy of an F-state m as the maximal information which one can gain performing all experiments from the set  $\Phi$ .

**Definition 2.2.** We define the entropy of an F-state m on an F-quantum space (X, M) by

$$h(m) = \sup \{ H_m(\mathscr{A}) :, \mathscr{A} \in \Phi \}.$$
(2.2)

In the following example there is mentioned the connection with the Shannon entropy of a probability distribution.

Example 2.1. Let  $(X, \mathcal{S}, P)$  be a finite probability space, i.e.  $X = \{x_1, ..., x_n\}, \mathcal{S} = 2^X, \bar{p} = \{p_1, ..., p_n\}$  is a probability distribution on X. If  $A \in \mathcal{S}$ , then  $P(A) = \sum_{i:x_i \in A} p_i$ .

We define the *F*-quantum space (X, M) and the *F*-state *m* as in Example 1.1. Then the set  $\Phi$  contains all resolutions of the type  $\{\chi_{A_1}, ..., \chi_{A_k}\}$ , where  $A_i \subset X$ 

$$(i = 1, ..., k), A_i \cap A_j = \emptyset \ (i \neq j) \ and \bigcup_{i=1}^k A_i = X.$$
 The entropy of a resolution

 $\mathscr{A} = \{\chi_{A_1}, ..., \chi_{A_k}\}$  in the *F*-state *m* is the number  $H_m(\mathscr{A}) = -\sum_{i=1}^k F(P(A_i))$  and the entropy of an *F*-state *m* is  $h(m) = \sup \{H_m(\mathscr{A}); \mathscr{A} \in \Phi\} = -\sum_{i=1}^n F(p_i)$ , which is in fact the Shannon entropy of the probability distribution  $\bar{p} = \{p_1, ..., p_n\}$ .

We shall now consider a  $\sigma$ -homomorphism  $U: M \to M$ , i.e. a mapping preserving the lattice operations as well as the mapping  $f \to f'$ , i.e.

$$U\left(\bigvee_{n=1}^{\infty} f_n\right) = \bigvee_{n=1}^{\infty} U(f_n) \quad \text{for every} \quad f_n \in M \ (n = 1, 2, \ldots)$$
(2.3)

 $U(1-f) = 1 - U(f) \text{ for every } f \in M$ (2.4)

and furthermore

$$U(1) = 1. (2.5)$$

We define  $U^2 = U \circ U$  and by the mathematical induction  $U^n = U \circ U^{n-1}$ , n = 1, 2, ..., where  $U^0$  is the identical mapping on M. It is easy to see that U has the following properties:  $U^n(1) = 1$ ,  $U^n(0) = 0$ ,  $U^n(1-f) = 1 - U^n(f)$ ,  $U^n\left(\bigvee_{i=1}^{\infty} f_i\right) = \bigvee_{i=1}^{\infty} U^n(f_i), f \le g$  implies  $U^n(f) \le U^n(g)$  for every  $f, g \in M$  and for each sequence  $\{f_i\} \subset M(n = 0, 1, 2, ...)$ .

**Lemma 2.1.** Let  $\mathscr{A}$  be an orthogonal resolution of the unit and  $U: M \to M$  be a  $\sigma$ -homomorphism. Then  $U^n \mathscr{A} := \{U^n(f); f \in \mathscr{A}\}$  is also an orthogonal resolution of the unit (n = 0, 1, 2, ...).

Proof. Let  $\mathscr{A} = \{f_1, ..., f_k\}, \ \mathscr{A} \in \Phi$ . Then  $U^n \mathscr{A} = \{U^n(f_1), ..., U^n(f_k)\}$ and  $\bigvee_{i=1}^k U^n(f_i) = U^n \left(\bigvee_{i=1}^k f_i\right) = U^n(1) = 1 \ (n = 0, 1, 2, ...)$ . Since for  $i \neq j$  we have  $f_i \leq 1 - f_j$ , for  $i \neq j$  we obtain  $U^n(f_i) \leq U^n(1 - f_j) = 1 - U^n(f_j) \ (n = 0, 1, 2, ...)$ . So,  $U^n \mathscr{A}$  is an orthogonal resolution of the unit (n = 0, 1, 2, ...).

**Lemma 2.2.** Let m be an F-state on an F-quantum space (X, M) and  $U: M \to M$ be a  $\sigma$ -homomorphism. Then the mapping  $m \circ U^n: M \to \langle 0, 1 \rangle$ , defined by  $(m \circ U^n) (f) = m(U^n(f)), f \in M, (n = 0, 1, 2, ...)$  is an F-state on (X, M). Proof. For every  $f \in M$  we get

$$(m \circ U^{n}) (f \lor f') = m(U^{n}(f \lor f')) = m(U^{n}(f) \lor U^{n}(f')) =$$
$$= m(U^{n}(f) \lor (U^{n}(f))') = 1.$$

Let  $f_i \in M$ ,  $f_i \leq 1 - f_i (i \neq j)$ . Then  $U^n(f_i) \leq 1 - U^n(f_i)$  for  $i \neq j$  and

$$(m \circ U^n) \left( \bigvee_{i=1}^{\infty} f_i \right) = m \left( U^n \left( \bigvee_{i=1}^{\infty} f_i \right) \right) = m \left( \bigvee_{i=1}^{\infty} U^n(f_i) \right) =$$
$$= \sum_{i=1}^{\infty} m(U^n(f_i)) = \sum_{i=1}^{\infty} (m \circ U^n) (f_i).$$

The basic properties of the entropy  $H_m$  are stated in the next theorem.

**Theorem 2.1.** The entropy  $H_m: \Phi \to R$  has the following properties:

$$H_m(\mathscr{A}) \ge 0 \text{ for every } \mathscr{A} \in \boldsymbol{\Phi}. \tag{2.6}$$

$$H_{m \circ U^n}(\mathscr{A}) = H_m(U^n \mathscr{A}) \text{ for every } \mathscr{A} \in \Phi, n = 0, 1, 2, \dots$$
(2.7)

Proof. The property (2.6) is evident. Let  $\mathscr{A} \in \Phi$ ,  $\mathscr{A} = \{f_1, ..., f_k\}$ . Then  $H_{m.U^n}(\mathscr{A}) = -\sum_{i=1}^k F((m \circ U^n)(f_i)) = -\sum_{i=1}^k F(m(U^n f_i)) = H_m(U^n \mathscr{A}).$ 

Corollary 2.1.  $h(m \circ U^n) = \sup \{H_m(U^n \mathscr{A}); \mathscr{A} \in \Phi\}.$ 

In the set  $\Phi$  of all the orthogonal resolutions of the unit one can define the operation  $\vee$  in the following way: if  $\mathcal{A}, \mathcal{B} \in \Phi, \mathcal{A} = \{f_1, ..., f_r\}, \mathcal{B} = \{g_1, ..., g_s\}$ , then we put  $\mathcal{A} \vee \mathcal{B} = \{f_i \land g_j; i = 1, ..., r, j = 1, ..., s\}$ . We shall read the symbol  $\mathcal{A} \vee \mathcal{B}$  the common refinement of  $\mathcal{A}$  and  $\mathcal{B}$ . If  $\mathcal{A}_1$ ,

 $\mathscr{A}_2, \ldots \in \mathcal{\Phi}$ , then instead  $\mathscr{A}_1 \vee \mathscr{A}_2$  we write  $\bigvee_{i=1}^2 \mathscr{A}_i$ , and we define by the induction

nauction

à.

$$\bigvee_{i=1}^{k+1} \mathscr{A}_i = \bigvee_{i=1}^k \mathscr{A}_i \lor \mathscr{A}_{k+1}, \text{ for } k = 2, 3, 4, \dots$$

**Lemma 2.3.** Let  $\mathcal{A}$ ,  $\mathcal{B}$  be the orthogonal resolutions of the unit. Then  $\mathcal{A} \vee \mathcal{B}$  is an orthogonal resolution of the unit, too.

Proof. Let  $\mathscr{A}$ ,  $\mathscr{B} \in \Phi$ ,  $\mathscr{A} = \{f_1, ..., f_r\}$ ,  $\mathscr{B} = \{g_1, ..., g_s\}$ . Then  $\mathscr{A} \lor \mathscr{B} = \{f_i \land g_j, i = 1, ..., r, j = 1, ..., s\}$  and  $\bigvee_{j=1}^s \bigvee_{i=1}^r (f_i \land g_j) =$ 

 $= \bigvee_{j=1}^{s} \left( \left( \bigvee_{i=1}^{r} f_{i} \right) \land g_{j} \right) = \bigvee_{j=1}^{s} g_{j} = 1. \text{ Since for } i \neq j f_{i} \leq f_{j}', \text{ we obtain } g_{k} \land f_{i} \leq f_{i}' \leq f_{j}' \leq f_{j}' \lor g_{l}' = (f_{j} \land g_{l})'. \text{ Therefore } g_{k} \land f_{i} \perp f_{j} \land g_{l} \text{ for } i \neq j \text{ and } l, k = 1, 2, ..., s.$ 

Analogously we prove that  $f_i \wedge g_k \perp f_j \wedge g_l$  for  $l \neq k$  and i, j = 1, 2, ..., r.

The posibility of the definition of the entropy of the system (X, M, m, T) is based on the following theorem.

**Theorem 2.2.**  $H_m(\mathscr{A} \vee \mathscr{B}) \leq H_m(\mathscr{A}) + H_m(\mathscr{B})$  for every  $\mathscr{A}, \mathscr{B} \in \Phi$ . Proof. The function  $F: \langle 0, \infty \rangle \to R$ ,

$$F(x) = \begin{cases} x \log x & \text{if } x > 0, \\ 0 & \text{if } x = 0, \end{cases}$$

is convex and therefore for any convex combination  $\sum_{i=1}^{k} \alpha_i x_i$  (i.e. such that  $\alpha_1$ ,

..., 
$$\alpha_k \ge 0$$
,  $\sum_{i=1}^{k} \alpha_i = 1$ ) of the elements  $x_1, ..., x_k \in \langle 0, 1 \rangle$  there holds  

$$F\left(\sum_{i=1}^{k} \alpha_i x_i\right) \le \sum_{i=1}^{k} \alpha_i F(x_i).$$
(2.8)

Let  $\mathscr{A} = \{f_1, ..., f_n\}, \mathscr{B} = \{g_1, ..., g_k\}$ . Put  $\alpha_i = m(g_i)$   $(i = 1, ..., k), x_i = m(f_j/g_i)$ (i = 1, ..., k, j fixed), where we define

$$m(f_j/g_i) := \begin{cases} \frac{m(f_j \wedge g_i)}{m(g_i)} & \text{if } m(g_i) > 0, \\ 0 & \text{if } m(g_i) = 0. \end{cases}$$

Then

$$\sum_{i=1}^{k} \alpha_{i} x_{i} = \sum_{i=1}^{k} m(g_{i}) \cdot m(f_{j}/g_{i}) = \sum_{i:m(g_{i}) > 0} m(g_{i}) \cdot \frac{m(f_{j} \land g_{i})}{m(g_{i})} = \sum_{i=1}^{k} m(f_{j} \land g_{i}) = m(f_{j} \land \left(\bigvee_{i=1}^{k} g_{i}\right)\right) = m(f_{j}).$$

By (2.8) we obtain  $F(m(f_j)) \le \sum_{i=1}^{n} m(g_i) \cdot F(m(f_j/g_i))$ , for j = 1, ..., n. If  $m(g_i) = 0$ , then also  $m(g_i) \cdot F(m(f_j/g_i)) = 0$ . If  $m(f_j \land g_i) > 0$ , then  $m(g_i) \cdot F(m(f_j/g_i)) = m(g_i) \cdot \frac{m(f_j \land g_i)}{m(g_i)} \cdot \log \frac{m(f_j \land g_i)}{m(g_i)} = m(f_j \land g_i)$ .

$$\log m(f_j \wedge g_i) - m(f_j \wedge g_i) \cdot \log m(g_i).$$

Denote by

$$a = \{(i, j); 1 \le j \le n, 1 \le i \le k, m(f_j \land g_i) > 0\},$$
  
$$\beta = \{i; 1 \le i \le k, m(g_i) > 0\}.$$

Then

$$H_m(\mathscr{A}) = -\sum_{j=1}^n F(m(f_j)) \ge -\sum_{j=1}^n \sum_{i=1}^k m(g_i) \cdot F(m(f_j/g_i)) =$$

$$= -\sum_{(i,j)\in\alpha} m(f_j \wedge g_i) \log m(f_j \wedge g_i) + \sum_{(i,j)\in\alpha} m(f_j \wedge g_i)) \log m(g_i) =$$
  
$$= -\sum_{j=1}^n \sum_{i=1}^k F(m(f_j \wedge g_i)) + \sum_{i\in\beta} \log m(g_i) \sum_{j=1}^n m(f_j \wedge g_i) = H_m(\mathscr{A} \vee \mathscr{B}) +$$
  
$$+ \sum_{i\in\beta} m(g_i) \log m(g_i) = H_m(\mathscr{A} \vee \mathscr{B}) - \left(-\sum_{i=1}^k F(m(g_i))\right) = H_m(\mathscr{A} \vee \mathscr{B}) - H_m(\mathscr{B}).$$

#### 3. The entropy of the *F*-dynamical system

By an F-dynamical system we mean the quadruple (X, M, m, T), where (X, M) is an F-quantum space, m is an F-state on (X, M) and T is an F-state m preserving the transformation, i.e.  $T: X \to X$  satisfies the following condition:

$$f \in M$$
 implies  $f \circ T \in M$  and  $m(f \circ T) = m(f)$ . (3.1)

Example 3.1. Let  $(X, \mathcal{S}, P, T)$  be a dynamical system in the sense of the classical probability theory, i.e.  $(X, \mathcal{S}, P)$  is a probability space and T is a measure preserving transformation (i.e.  $E \in \mathcal{S}$  implies  $T^{-1}(E) \in \mathcal{S}$  and  $P(T^{-1}(E)) = P(E)$ ). Then the quadruple (X, M, m, T), where (X, M) and m are defined as in the Example 1.1, is an F-dynamical system. It is easy to see that satisfies also the condition (3.1). Namely, if  $f \in M$ , then  $f = \chi_E$ , where  $E \in \mathcal{S}$  $m(f \circ T) = m(\chi_E \circ T) = m(\chi_{T^{-1}(E)}) = P(T^{-1}(E)) = P(E) = m(\chi_E) = m(f)$ .

**Lemma 3.1.** Let (X, M, m, T) be an F-dynamical system. Then the maping  $U: M \to M$ ,  $U(f) = f \circ T$ ,  $f \in M$ , is a  $\sigma$ -homomorphism of M.

**Proof.** Since for every  $x \in X$ 

$$\left[\left(\bigvee_{n=1}^{\infty}f_n\right)\circ T\right](x)=\left(\bigvee_{n=1}^{\infty}f_n\right)(T(x))=\bigvee_{n=1}^{\infty}(f_n(T(x)))=\bigvee_{n=1}^{\infty}(f_n\circ T)(x),$$

we obtain

$$U\left(\bigvee_{n=1}^{\infty}f_{n}\right)=\left(\bigvee_{n=1}^{\infty}f_{n}\right)\circ T=\bigvee_{n=1}^{\infty}(f_{n}\circ T)=\bigvee_{n=1}^{\infty}U(f_{n}).$$

Moreover, for every  $x \in X$ 

$$[(1-f) \circ T](x) = (1-f)(T(x)) = 1 - f(T(x)) = 1 - (f \circ T)(x)$$

and therefore  $U(1-f) = (1-f) \circ T = 1 - f \circ T = 1 - U(f)$ . It is easy to see that U fulfils also the condition (2.5).

**Lemma 3.2.** Let  $\mathscr{A} = \{f_1, ..., f_k\}$  be an orthogonal resolution of the unit. Then  $T^n \mathscr{A} := \{f_1 \circ T^n, ..., f_k \circ T^n\}$  (n = 0, 1, 2, ...) is an orthogonal resolution of the unit, too.

Proof.

$$\bigvee_{i=1}^{k} (f_i \circ T^n) = \left(\bigvee_{i=1}^{k} f_i\right) \circ T^n = 1 \circ T^n = 1.$$

Since  $(f_i \circ T^n) \land (1 - f_j \circ T^n) = (f_i \land (1 - f_j)) \circ T^n = f_i \circ T^n$   $(i \neq j)$  there holds for  $i \neq j f_i \circ T^n \le 1 - f_j \circ T^n$ . So that  $T^n \mathscr{A}$  is an orthogonal resolution of the unit.

**Lemma 3.3.**  $H_m(T^n \mathscr{A}) = H_m(\mathscr{A})$ , where  $T^n \mathscr{A} = \{f_1 \circ T^n, \dots, f_k \circ T^n\}$   $(n = 0, 1, 2, \dots)$  for every  $\mathscr{A} \in \Phi$ ,  $\mathscr{A} = \{f_1, \dots, f_k\}$ .

Proof. Since  $m(f \circ T^n) = m(f)$  for n = 0, 1, 2, ... and every  $f \in M$ , we obtain  $H_m(T^n \mathscr{A}) = -\sum_{i=1}^k F(m(f_i \circ T^n)) = -\sum_{i=1}^k F(m(f_i)) = H_m(\mathscr{A}).$ 

**Lemma 3.4.** ([5]) Let  $(a_n)_{n=1}^{\infty}$  be a sequence of nonnegative numbers such that  $a_{r+s} \leq a_r + a_s$  for each r, s = 1, 2, ... Then there exists  $\lim_{n \to \infty} \frac{1}{n} a_n$ .

**Lemma 3.5.** For every  $\mathscr{A} \in \Phi$  there exists  $\lim_{n \to \infty} \frac{1}{n} H_m \left( \bigvee_{j=0}^{n-1} T^j \mathscr{A} \right)$ .

Proof. Put  $a_n = H_m \left( \bigvee_{j=0}^{n-1} T^j \mathscr{A} \right)$ . According to Theorem 2.2 and Lemma 3.3 we obtain

$$a_{r+s} = H_m \left( \bigvee_{j=0}^{r+s-1} T^j \mathscr{A} \right) = H_m \left( \bigvee_{j=0}^{s-1} T^j \mathscr{A} \vee \bigvee_{j=s}^{r+s-1} T^j \mathscr{A} \right) \le H_m \left( \bigvee_{j=0}^{s-1} T^j \mathscr{A} \right) + H_m \left( \bigvee_{j=s}^{r+s-1} T^j \mathscr{A} \right) = a_s + H_m \left( T^s \left( \bigvee_{i=0}^{r-1} T^i \mathscr{A} \right) \right) = a_s + H_m \left( \bigvee_{i=0}^{r-1} T^i \mathscr{A} \right) = a_s + a_r.$$

By the preceding lemma there exists  $\lim_{n \to \infty} \frac{1}{n} a_n$ .

**Definition 3.1.** Let (X, M, m, T) be an F-dynamical system. Then for every  $\mathcal{A} \in \Phi$  we define  $h_m(T, \mathcal{A}) = \lim_{n \to \infty} \frac{1}{n} H_m \left(\bigvee_{j=0}^{n-1} T^j \mathcal{A}\right)$ . The entropy of the F-dynamical system (X, M, m, T) is defined by  $h_m(T) = \sup \{h_m(T, \mathcal{A}); \mathcal{A} \in \Phi\}$ .

In the following we shall see that the Definition 3.1 is a generalization of the classical Kolmogorov-Sinaj entropy of a dynamical system  $(X, \mathcal{S}, P, T)$ . A starting point in its definition is the notion of the entropy of a measurable partition. If  $A = \{A_1, ..., A_n\}$  is a measurable partition of the space  $(X, \mathcal{S}, P)$ , then the entropy of the partition A is defined by  $H(A) = -\sum_{i=1}^{n} F(P(A_i))$ . If we consider the F-quantum space (X, M) and the F-state m from Example 1.1, then for every measurable partition  $A = \{A_1, ..., A_n\}$  of the space  $(X, \mathcal{S}, P)$  there exists the partition  $\mathcal{A} \in \Phi$ ,  $\mathcal{A} = \{\chi_{A_1}, ..., \chi_{A_n}\}$  and there holds further  $H_m(\mathcal{A}) = -\sum_{i=1}^{n} F(m(\chi_{A_i})) = -\sum_{i=1}^{n} F(P(A_i)) = H(A)$ . If  $A = \{A_1, ..., A_n\}$ ,  $B = \{B_1, ..., A_n\}$ 

 $B_k$  are two measurable partitions of the space  $(X, \mathcal{S}, P)$ , then the common refinement of A and B is defined as the set  $A \vee B = \{A_i \cap B_j; i = 1, ..., n, j = 1, ..., k\}$ . If we put  $\mathcal{A} = \{\chi_{A_1}, ..., \chi_{A_n}\}, \mathcal{B} = \{\chi_{B_1}, ..., \chi_{B_k}\}$ , then the following equality holds:

$$H_m(\mathscr{A} \vee \mathscr{B}) = -\sum_{i=1}^n \sum_{j=1}^k F(m(\chi_{A_i} \wedge \chi_{B_j})) = -\sum_{i=1}^n \sum_{j=1}^k F(P(A_i \cap B_j)) = H(A \vee B).$$

The Kolmogorov-Sinaj entropy of the dynamical system  $(X, \mathscr{G}, P, T)$  is defined by  $h(T) = \sup \{h(T, A); A \text{ is a finite measurable partition of } X\}$ , where  $h(T, A) = \lim_{n \to \infty} \frac{1}{n} H\left(\bigvee_{i=0}^{n-1} T^{-i}A\right)$  and finally  $T^{-i}A = \{T^{-i}(A_1), ..., T^{-i}(A_k)\}$  for every measurable partition  $A = \{A_1, ..., A_k\}$ . Since  $H_m(\mathscr{A} \lor T\mathscr{A}) =$  $= -\sum_{i,j=1}^k F(m(\chi_{A_i} \land \chi_{T^{-1}(A_j)})) = -\sum_{i,j=1}^k F(P(A_i \cap T^{-1}(A_j))) = H(A \lor T^{-1}A)$ , by induction we obtain  $H_m\left(\bigvee_{i=0}^{n-1} T^{i}\mathscr{A}\right) = H\left(\bigvee_{i=0}^{n-1} T^{-i}A\right)$ , hence

$$h_m(T, \mathscr{A}) = \lim_{n \to \infty} \frac{1}{n} H_m\left(\bigvee_{i=0}^{n-1} T^i \mathscr{A}\right) = \lim_{n \to \infty} \frac{1}{n} H\left(\bigvee_{i=0}^{n-1} T^{-i} A\right) = h(T, A)$$

and finally

 $h_m(T) = \sup \{h_m(T, \mathcal{A}); \mathcal{A} \in \Phi\} = \sup \{h(T, A); A \text{ is a finite measurable partition}\} = h(T).$ 

**Lemma 3.6.** Let (X, M, m, T) be an F-dynamical system. Then the function  $T \circ m : M \to \langle 0, 1 \rangle$  defined by

$$(T \circ m)(f) = m(f \circ T)$$

is an F-state on (X, M).

**Proof.** For every  $f \in M$  there holds

 $(T \circ m)$   $(f \lor f') = m((f \lor f') \circ T) = m(f \circ T \lor f' \circ T) = m(f \circ T \lor (f \circ T)') = 1.$ Let  $f_i \in M$ ,  $f_i \perp f_j$   $(i \neq j)$ . Then for every  $x \in X$  and  $i \neq j$   $f_i(x) \le 1 - f_j(x)$  and therefore we obtain

$$(f_i \circ T) (x) = f_i(T(x)) \le 1 - f_j(T(x)) = 1 - (f_j \circ T) (x).$$
$$(T \circ m) \left(\bigvee_{i=1}^{\infty} f_i\right) = m \left(\left(\bigvee_{i=1}^{\infty} f_i\right) \circ T\right) = m \left(\bigvee_{i=1}^{\infty} (f_i \circ T)\right) = \sum_{i=1}^{\infty} m(f_i \circ T) =$$
$$= \sum_{i=1}^{\infty} (T \circ m) (f_i)$$

**Lemma 3.7.** For every  $\mathscr{A} \in \Phi$  there holds  $H_{T \circ m}(\mathscr{A}) = h_m(T\mathscr{A}) = H_m(\mathscr{A})$ .

**Theorem 3.1.**  $h_{T \circ m}(T) = h_m(T)$ . Proof. For every  $\mathscr{A} \in \Phi$  we have by the preceding lemma

$$h_{T \circ m}(T, \mathscr{A}) = \lim_{n \to \infty} \frac{1}{n} H_{T \circ m} \left( \bigvee_{j=0}^{n-1} T^{j} \mathscr{A} \right) = \lim_{n \to \infty} \frac{1}{n} H_{m} \left( \bigvee_{j=0}^{n-1} T^{j} \mathscr{A} \right) = h_{m}(T, \mathscr{A}).$$
$$h_{T \circ m}(T) = \sup \{ h_{T \circ m}(T, \mathscr{A}); \ \mathscr{A} \in \Phi \} = \sup \{ h_{m}(T, \mathscr{A}); \ \mathscr{A} \in \Phi \} = h_{m}(T).$$

#### 4. The connection with the general scheme

Riečan in [6] notices some common properties of the topological and the Kolmogorov-Sinaj entropy and introduces a general scheme which includes the mentioned entropy. A similar character have also the papers [7], [8] and [9]. Grošek in [7] pays first of all attention to algebraic aspects of the entropy. In this section we give the definition of the so-called generalized base of the *l*-entropy (see [7]). At the same time we show that the entropy of the system (X, M, m, T) is a special case of the *l*-entropy. First we give the definitions of some algebraic notions which we shall use in the following.

A triplet  $(S, \lor, \le)$  is called a quasi-ordered semigroup if the couple  $(S, \lor)$  is a semigroup, the set S is quasi-ordered by relation  $\le$  and for every  $x, y, z \in S$  there holds

$$x \le y \text{ implies } x \lor z \le y \lor z \text{ and } z \lor x \le z \lor y.$$
 (4.1)

The set S is called a strong quasi-ordered semigroup if S is a quasi-ordered semigroup and the ordering  $\leq$  on the set S satisfies the condition

$$x \le x \lor y$$
 for every  $x, y \in S$ . (4.2)

**Lemma 4.1.** If the quasi-ordered semigroup S contains the unit-element such that it is at the same time also the minimum of the set S, then S is a strong quasi-ordered semigroup.

Proof. Let x,  $y \in S$ . Then  $1 \le y$  and by (4.1)  $x \lor 1 \le x \lor y$ . Since  $x \lor 1 = x$ , we obtain  $x \le x \lor y$ .

A mapping  $T: S \rightarrow S$  is called an isotone endomorphiom if for every  $x, y \in S$  the following conditions hold:

$$T(x \lor y) = T(x) \lor T(y) \tag{4.3}$$

$$x \le y$$
 implies  $T(x) \le T(y)$  (4.4)

**Definition 4.1.** Let S be a strong quasi-ordered commutative semigroup, T be an isotone endomorphism on S. By a generalized entropy with respect to the endomorphism T we shall mean a function  $H: S \rightarrow \langle 0, \infty \rangle$  satisfying for every x,  $y \in S$  the following conditions:

$$x \le y$$
 implies  $H(x) \le H(y)$  (4.5)

$$H(T(x)) \le H(x) \tag{4.6}$$

$$H(x \lor T(x) \lor ... \lor T^{n}(x)) \le H(x \lor T(x) \lor ... \lor T^{j}(x)) + H(T^{j+1}(x) \lor ... \lor T^{n}(x))$$
(4.7)

for every  $j, n \in N, 0 \le j \le n$ .

**Definition 4.2.** By a generalized *l*-entropy of the element  $x \in S$  with respect to the isotone endomorphism T we mean a function  $h_T: S \to \langle 0, \infty \rangle$  defined by  $h_T(x) = \lim_{n \to \infty} \frac{1}{n} H_n(x)$ , where  $H_n(x) = H(x \vee T(x) \vee ... \vee T^{n-1}(x))$ ,  $x \in S$ . By a generalized base of the *l*-entropy  $h_T$  we mean an ordered triplet (S, T, H), where S is a strong quasi-ordered commutative semigroup, T is an isotone endomorphism on S and H is a generalized entropy. We define the generalized entropy of the

endomorphism T at the base (S, T, H) by

$$h_T^* = \sup\{h_T(x); x \in S\}.$$

Let (X, M, m, T) be an *F*-dynamical system. Let  $\Phi$  be the set of all orthogonal resolutions of the unit. In the set  $\Phi$  we define the relation  $\leq$  in the following way: for every  $\mathcal{A}, \mathcal{B} \in \Phi, \mathcal{A} \leq \mathcal{B}$  iff there exists  $\mathcal{C} \in \Phi$  such that  $\mathcal{B} = \mathcal{A} \vee \mathcal{C}$ . We say then that  $\mathcal{B}$  is the refinement of  $\mathcal{A}$ .

**Proposition 4.1.** The set  $\Phi$  of all orthogonal resolutions of the unit is a strong quasi-ordered commutative semigroup.

Proof. Evidently, the operation  $\vee$  is commutative and associative and according to Lemma 2.3 the set  $\Phi$  with the operation  $\vee$  is a commutative semigroup. We prove that the relation  $\leq$  is a quasi-ordering on  $\Phi$  as well as the condition (4.1) holds. For every  $\mathscr{A} \in \Phi$  there exists  $\mathscr{C} \in \Phi$  such that  $\mathscr{A} = \mathscr{A} \vee \mathscr{C}$ . Indeed, it suffices to put  $\mathscr{C} = \mathscr{E} := \{1\}$ . The relation  $\leq$  is reflexive. We prove that it is transitive, too. If  $\mathscr{A}_1, \mathscr{A}_2, \mathscr{A}_3 \in \Phi$  such that  $\mathscr{A}_1 \leq \mathscr{A}_2$  and  $\mathscr{A}_2 \leq \mathscr{A}_3$ , then there are  $\mathscr{B}, \ \mathscr{C} \in \Phi$  such that  $\mathscr{A}_2 = \mathscr{A}_1 \vee \mathscr{B}, \ \mathscr{A}_3 = \mathscr{A}_2 \vee \mathscr{C}$ . We have  $\mathscr{A}_3 = (\mathscr{A}_1 \vee \mathscr{B}) \vee \mathscr{C} = \mathscr{A}_1 \vee (\mathscr{B} \vee \mathscr{C})$ . Hence  $\mathscr{A}_1 \leq \mathscr{A}_3$ . We prove (4.1). If  $\mathscr{A}, \ \mathscr{B}, \ \mathscr{C} \in \Phi$ , where  $\mathscr{A} \leq \mathscr{B}$ , then there exists  $\mathscr{D} \in \Phi$  such that  $\mathscr{B} = \mathscr{A} \vee \mathscr{D}$ . We obtain

 $\mathscr{B} \vee \mathscr{C} = (\mathscr{A} \vee \mathscr{D}) \vee \mathscr{C} = \mathscr{A} \vee (\mathscr{D} \vee \mathscr{C}) = \mathscr{A} \vee (\mathscr{C} \vee \mathscr{D}) = (\mathscr{A} \vee \mathscr{C}) \vee \mathscr{D}.$ Hence  $\mathscr{A} \vee \mathscr{C} \leq \mathscr{B} \vee \mathscr{C}$ . The partition  $\mathscr{E} = \{1\}$  is the unit-element and at the same time the minimum of the set  $\Phi$ . For every  $\mathscr{A} \in \Phi$  there holds  $\mathscr{E} \leq \mathscr{A}$  because  $\mathscr{A} = \mathscr{A} \vee \mathscr{E}$ . So, by Lemma 4.1 the set  $\Phi$  is a strong quasi-ordered commutative semigroup.

**Proposition 4.2.** The mapping  $T: \Phi \to \Phi$  defined by  $T\mathcal{A} = \{f_1 \circ T, ..., f_n \circ T\}$ , where  $\mathcal{A} \in \Phi$ ,  $\mathcal{A} = \{f_1, ..., f_n\}$ , is an isotone endomorphism on the set  $\Phi$ .

Proof. According to Lemma 3.2 if  $\mathscr{A} \in \Phi$ , then  $T\mathscr{A} \in \Phi$ , too. Let  $\mathscr{A}$ ,  $\mathscr{B} \in \Phi$ ,  $\mathscr{A} = \{f_1, ..., f_n\}, \mathscr{B} = \{g_1, ..., g_k\}$ . Then

$$\mathscr{A} \vee \mathscr{B} = \{f_i \wedge g_j, i = 1, ..., n, j = 1, ..., k\}.$$
  
 $T(\mathscr{A} \vee \mathscr{B}) = \{(f_i \wedge g_j) \circ T; i = 1, ..., n, j = 1, ..., k\} =$ 

$$= \{ (f_i \circ T) \land (g_j \circ T), i = 1, ..., n, j = 1, ..., k \} = T \mathscr{A} \lor T \mathscr{B}.$$

If  $\mathscr{A}, \mathscr{B} \in \Phi, \mathscr{A} \leq \mathscr{B}$ , then there exists  $\mathscr{C} \in \Phi$  such that  $\mathscr{B} = \mathscr{A} \vee \mathscr{C}$ .  $T\mathscr{B} = T(\mathscr{A} \vee \mathscr{C}) = T\mathscr{A} \vee T\mathscr{C}$ . This implies  $T\mathscr{A} \leq T\mathscr{B}$ .

**Theorem 4.1.** The function  $H_m: \Phi \to \langle 0, \infty \rangle$  defined by  $H_m(\mathscr{A}) = -\sum_{i=1}^n F(m(f_i)), \ \mathscr{A} \in \Phi, \ \mathscr{A} = \{f_1, ..., f_n\}$ , is a generalized entropy with respect to the endomorphism T from the Proposition 4.2.

Proof. We prove that (4.5) holds. Let  $\mathscr{A}$ ,  $\mathscr{B} \in \Phi$ ,  $\mathscr{A} \leq \mathscr{B}$ , i.e.  $\mathscr{B} = \mathscr{A} \vee \mathscr{C} = \{f_i \wedge g_j, i = 1, ..., n, j = 1, ..., k\}$ . Put  $\alpha = \{(i, j); i = 1, ..., n, j = 1, ..., k, m(f_i \wedge g_j) > 0\}$ . Then

$$H_m(\mathscr{B}) = -\sum_{i=1}^n \sum_{j=1}^k F(m(f_i \wedge g_j)) = -\sum_{(i,j) \in a} m(f_i \wedge g_j) \log m(f_i \wedge g_j) =$$
$$= -\sum_{(i,j) \in a} m(f_i \wedge g_j) \log m(g_j|f_i) - \sum_{(i,j) \in a} m(f_i \wedge g_j) \log m(f_i) =$$

$$= -\sum_{(i,j)\in\alpha} m(f_i \wedge g_j) \log m(g_j/f_i) - \sum_{i:(i,j)\in\alpha} \log m(f_i) \sum_{j=1}^k m(f_i \wedge g_j) \ge$$
$$\ge -\sum_{i:(i,j)\in\alpha} m(f_i) \log m(f_i) = -\sum_{i=1}^n F(m(f_i)) = H_m(\mathscr{A}).$$

The condition (4.6) is proved in Lemma 3.3 and the condition (4.7) follows from Theorem 2.2.

At the same time we obtain that the function  $h_m(T, \mathscr{A}) = \lim_{n \to \infty} \frac{1}{n} H_m \left( \bigvee_{j=0}^{n-1} T^j \mathscr{A} \right), \ \mathscr{A} \in \Phi$ , is a generalized *l*-entropy of the element  $\mathscr{A} \in \Phi$  with respect to the endomorphism *T*. The triplet  $(\Phi, T, H_m)$  is a generalized base of the *l*-entropy

$$h_T(.) = h_m(T, .): \Phi \to \langle 0, \infty \rangle.$$

The entropy  $h_m(T)$  of the F-dynamical system (X, M, m, T) is a generalized entropy of the endomorphism T at the base  $(\Phi, T, H_m)$ :

$$h_m(T) = h_T^* = \sup \{h_T(\mathscr{A}); \ \mathscr{A} \in \mathbf{\Phi}\}.$$

#### REFERENCES

- [1] VARADARAJAN, V. S.: Geometry of Quantum Theory, Vol. I, D. Van Nostrand Company, Princeton, New Jersey 1968.
- [2] RIEČAN, B.—DVUREČENSKIJ, A.: On randomnes and fuzzinnes. In: Progress in fuzzy sets in Europe, Warsaw, 1986.
- [3] RIEČAN, B.: A new approach to some notions of statistical quantum mechanics. BUSEFAL, 35, 1988, 4—6.
- [4] PIASECKI, K.: On extension of fuzzy P-measure generated by outer measure. In: Proc. and Napoli Meeting on the mathematics of fuzzy systems 1985, 119–135.
- [5] NEUBRUNN, T.-RIEČAN, B.: Miera a integrál, Veda, Bratislava 1981.
- [6] RIEČAN, B.: Abstract entropy. Acta Fac. Rer. Nat. Univ. Comen. 29, 1973, 55-67.
- [7] GROŠEK, O.: Entropia na algebraičeskich strukturach, Math. Slovaca 29, 1979, 411-424.
- [8] PALM, G.: Entropie und Generatoren in dynamischen Verbänden. Z. Wahr. und verw. Geb. 37, 1976, 27-45.
- [9] KOMORNÍK, J.—KOMORNÍKOVÁ, M.: Comparing measure theoretic entropy with topological entropy for noncompact spaces. Acta Math. Univ. Comen. 42–43, 1983–1985.
- [10] MALIČKÝ, P.—RIEČAN, B.: On the entropy of dynamical systems. In: Ergodic theory and related topics II, to appear.

Received June 14, 1988

Katedra matematiky Pedagogickej fakulty Saratovská 19 949 74 Nitra

# ЭНТРОПИЯ НА F-КВАНТОВЫХ ПРОСТРАНСТВАХ

#### Dagmar Markechová

## Резюме

В статье рассматриваются энтропия на *F*-квантовых пространствах, энтропия *F*-состояния и энтропия *F*-динамической системы. В работе показано, что приведенные определения являются обобщением энтропий Шаннона и Колмогоровова-Синия.

..